
Part A:   Circle the correct answer.




Value 14 points

1.
What is the measure of 
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2.
Which angle below does not have the same reference angle as the others??
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What is the exact value of  
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4.
 What is the length of the arc cut by a 
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 in a circle having diameter 10 cm?
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5.
Which angle is coterminal to  
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6.
In which quadrant does  the terminal arm of 
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  lie if 
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Solve for x for 
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8.
What are the exact coordinates of   
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9.
Determine the value of the missing coordinate if 
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 lies on the unit circle and the 
terminal arm of 
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 lies in the second quadrant.
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10.
How many solutions does the equation 
[image: image48.wmf]2sec4

x

=-

 have if the domain is restricted to 

[image: image49.wmf]3

2

x

p

p

-££


(A)

[image: image50.wmf]1



(B)

[image: image51.wmf]2




(C)

[image: image52.wmf]3



(D)

[image: image53.wmf]4


11. 
Solve for x for 
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If  [image: image61.png]


, which ratio is true?
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13.
A circle centered at the origin contains the point (-12, 16).  What is the equation of this circle?
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14.
What is the exact value of [image: image79.png]tan(30°) + cot (30°)



?
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Part B:
Answer all questions in the space provided.  Show all workings
  Total: 18


15.
Solve for θ where 
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b.
Using the same equation from Part (a), write all possible solutions , i.e. the general solution.
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16.
Solve for 
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  where 
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17.
A rotating water sprinkler makes one revolution every 20 seconds.  The water reaches a 
distance of 8 metres from the sprinkler.

a
What is the arc length of the sector watered when the sprinkler rotates 200 degrees?
1
b.
What angle does the sprinkler rotate through in 5 minutes?
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18.
What is the exact value of 
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19.
The terminal arm of  an angle 
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, in standard position, passes through the point (-5,-2).        5
a.
Sketch the angle.




b.
Determine the exact value of 
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  and 
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c.
Determine the measure of 
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, in degrees, to the nearest tenth, and in radians.
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